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Marking Scheme 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination,2025 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/7/1) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totalled up and written in the left-

hand margin and encircled. This may be followed strictly. 
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8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view 

of the reduced syllabus and number of questions in question paper. 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:-  

● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 

the title page, correctly totalled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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MARKING SCHEME 

Senior School Certificate Examination 2025 

ECONOMICS   (Subject Code–030) 
[Paper Code: 58/7/1] 

Maximum Marks: 80 

Q. 

No. 
EXPECTED ANSWER / VALUE POINTS 

Marks 

SECTION -A 

(Macro Economics) 

1. Read the following statements carefully :  

Statement 1: Keeping other things constant, there exists positive correlation between the 

price of foreign exchange and its demand.   

Statement 2: The foreign exchange rate indicates a country’s purchasing power in 

international markets.  

In the light of the given statements, choose the correct option from the following :    

(A) Statement 1 is true and Statement 2 is false.   

(B) Statement 1 is false and Statement 2 is true.  

(C) Both Statements 1 and 2 are true.  

(D) Both Statements 1 and 2 are false. 

Ans. (B) Statement 1 is false and Statement 2 is true. 

 

 

 

 

 

 

 

 

 

 

1 

2. Using the given information, complete the following table:          (Choose the correct option) 

 2014-15 2016-17 

Nominal GDP 6.5 9 

Real GDP …(i)… 7.2 

GDP Deflator 100 …(ii)… 

Options: 

(A) 125, 100      (B)125,110 

(C) 6.5, 125     (D) 100, 6.5 

Ans. (C) 6.5, 125 

 

 

 

 

 

 

 

 

1 

3. ____________ releases data of money supply in India. 

      (Choose the correct option to fill in the blank) 

(A) Corporation Bank 

(B) Reserve Bank of India 

(C) Commercial Banks 

(D) State Bank of India 

Ans. (B) Reserve Bank of India 

 

 

 

 

 

 

1 

4. Read the following statements – Assertion (A) and Reason (R) carefully. 

Choose the correct option from those given below: 

Assertion (A): Shipping service provided by an Indian company to foreign companies will 

be recorded in the current account of Balance of Payments (BOP). 

Reason (R): Current account of Balance of Payments (BOP) does not alter the status of the 

asset or liabilities of the residents of India. 

Options: 

(A) Both Assertion (A) and Reason (R) are true, and Reason (R) is the correct explanation 

of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 
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(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 

Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 

 

1 

5. Commercial banks are regarded as money creators because:       (Choose the correct option) 

(A) they purchase securities from the Central Bank. 

(B) loans provided by them create deposits. 

(C) they act as a banker to the government. 

(D) they regulate the lending rate in the economy 

Ans. (B) loans provided by them create deposits. 

 

 

 

 

 

1 

6. Suppose, the consumption function is given as: 

C = 205 + 0.9 Y (where C = Total Consumption and Y = National Income) 

The value of Investment Multiplier (K) would be ____________. 

      (Choose the correct option to fill in the blank) 

(A) 0.09     (B) 10.0 

(C) 0.9      (D) 9.0 

Ans. (B) 10.0 

 

 

 

 

 

 

1 

7. Marginal Propensity to Consume (MPC) exhibits the slope of __________ function. 

      (Choose the correct option to fill in the blank) 

(A) Saving 

(B) Consumption 

(C) Production 

(D) Cost 

Ans. (B) Consumption 

 

 

 

 

 

 

1 

8. Read the following statements carefully: 

Statement 1: Open Market Operations refers to purchase/sale of Government Securities (G-

Sec) by the Central Bank. 

Statement 2: To decrease money supply, Central Bank will sell the Government Securities 

to commercial banks. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (C) Both Statements 1 and 2 are true. 

 

 

 

 

 

 

 

 

 

 

1 

9. Aggregate expenditure in the economy during an accounting year is also known as 

__________.                 (Choose the correct option to fill in the blank) 

(A) Autonomous investment 

(B) Aggregate supply 

(C) Aggregate demand 

(D) Induced investment 

Ans. (C) Aggregate demand 

 

 

 

 

 

 

1 

10. The 45° line in Keynesian economics indicates __________. 

                   (Choose the correct option to fill in the blank) 

(A) Income > Consumption 

(B) Savings > Investments 

(C) Consumption > Income 

(D) Income = Consumption 

Ans. (D) Income = Consumption 

 

 

 

 

 

 

1 
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11. 

(a) 

Calculate the value of ‘Sales’ from the following data: 

 

 

 

 

 

 

 

 

 

 

Ans. Value of Sales = (viii) – {(iv) – (iii)} + (v) – (i) + (vi) 

           = 2,000 – (600 – 100) + 3,000 – 200 + 700 

                      = ₹ 5,000 lakh 

S. No. Particulars Amount  

(in ₹ lakh) 

(i) Subsidies 200 

(ii) Operating surplus 500 

(iii) Opening stock 100 

(iv) Closing stock 600 

(v) Intermediate consumption 3,000 

(vi) Consumption of fixed capital 700 

(vii) Profits 750 

(viii) Net Value Added at Factor Cost (NVAFC) 2,000 

 

 

 

 

 

 

 

 

 

 

 

 

1 ½  

1 

½  

 OR 3 

(b) State and explain any two precautions that must be taken while estimating national income 

by the income method. 

Ans. Two precautions to be taken while estimating National Income by Income method 

are:  

• Transfer Income should not be included as they are unilateral in nature. 

• Income from sale of second-hand goods should not be included as it does not 

add to the flow of goods and services in the economy in the current year. 

(Any other valid precaution to be awarded marks) 

 

 

 

 

1 ½  

1 ½  

  3 

12. Identify and explain any one function of the Central Bank as indicated in the image given 

below: 

 

Ans. One of the indicated functions of the Central Bank i.e. Reserve Bank of India 

(RBI) is the Banker’s Bank and Supervisor. 

RBI accepts deposits from commercial banks and also advances loans to them as and 

when required. It maintains reserves of all commercial banks and utilizes it to settle 

inter-bank claims. Being the supreme authority of the banking system, it acts as the 

financier of last recourse to the commercial banks. RBI supervises, regulates and 

controls the commercial banks.       (Any other valid function to be awarded marks) 

Note: The following question is for the Visually Impaired Candidates only in lieu of Q. No. 

12. 

Explain any one function of the Central Bank.  

Ans. Central Bank acts as the Banker’s Bank and Supervisor. Central Bank accepts 

deposits from commercial banks and also advances loans to them as and when 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

2 

 

 

 

 

 

 

3 
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required. It maintains reserves of all commercial banks and utilizes it to settle inter-

bank claims. Being the supreme authority of the banking system, it acts as the financier 

of last recourse to the commercial banks. Central Bank supervises, regulates and 

controls the commercial banks.       (Any other valid function to be awarded marks) 

 

13. 

 

(i) “In an economy, ex-ante investment (I) exceeds ex-ante savings (S).” 

Explain the likely impact of the given situation on output, employment and income. 

Ans. When ex-ante investment (I) exceeds ex-ante savings (S) it means households are 

planning to consume more than what the firms expected them to consume. This will 

lead to unintended decumulation of inventories. To restore the desired/intended level 

of inventories, producers may expand production in the economy which may increase 

the output, employment and income level.        (To be marked as a whole) 

 

(ii) Define excess demand. 

Ans. Excess demand refers to a situation when Aggregate Demand (AD) exceeds 

Aggregate Supply (AS) corresponding to the full employment level of output. 

 

 

 

 

3 

 

 

 

 

 

1 

  4 

14. 

(a)  

 

 

 

 

 

 

 

 

 

(i) Distinguish between Balance of Payments and Balance of Trade. 

Ans. Balance of Payments (BoP) is an accounting statement that provides a systematic 

record of all economic transactions between residents of a country and the rest of the 

world over a givrn period of time. It includes transactions in goods, services and assets.  

Whereas, 

Balance of Trade (BOT) is the difference between the value of exports and value of 

imports of goods of a country over a given period of time. It includes transactions in 

goods only. 

 

(ii) Define Current Account Surplus. 

Ans. Current Account Surplus (CAS) arises when receipts from exports of goods & 

services and unilateral transfers are greater than the payments for imports of goods & 

services and unilateral transfers. 

 

1 ½  

 

 

 

1 ½  

 

 

 

 

1 

 

 OR 4 

(b) (i) Using suitable example, distinguish between Foreign Direct Investments (FDI) and    

Foreign Institutional Investments (FII). 

Ans. Foreign Direct Investment (FDI) refers to direct investments from abroad in 

physical assets with a considerable degree of influence and control over the firm. 

Whereas; 

Foreign Institutional Investment (FII) refers to investments from abroad in stocks, 

bonds or other financial assets and do not entail active management or control over the 

firm.  

 

(ii) State one example of External Assistance as a component of capital account. 

Ans. Bilateral loans        (Any other valid example to be awarded marks) 

 

 

1 ½  

 

 

1 ½  

 

 

 

 

1 

  4 

15. 

 

 

“Margin requirements are extremely helpful in correcting the situation of deflationary gap 

in an economy”. 

Justify the given statement with valid arguments. 
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Ans. Margin requirement refers to the difference between the amount of the loan and 

the value of the security offered by the borrower against the loan. To correct the 

situation of the deflationary gap, the Central Bank may reduce the margin 

requirement. It may lead to an increase in the amount of loan available on the security 

offered. This will increase the availability of credit and consequently, the Aggregate 

Demand in the economy will increase. Thus, by altering the margin requirements, the 

Central Bank can alter the amount of loans made against securities by the banks. 

        (To be marked as a whole) 

 

 

4 

  

16. 

(a) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(i) “Domestic income is always less than national income.” 

Do you agree with the given statement? Support your answer with valid arguments. 

Ans. No. Net Factor Income from Abroad (NFIA) needs to be added to Domestic 

Income to arrive at the value of National Income. Domestic Income will be less than 

National Income, when NFIA is positive, i.e. factor income from abroad is greater than 

factor income to abroad. Whereas, Domestic Income will be more than National 

Income, when NFIA is negative i.e. factor income from abroad is less than factor income 

to abroad. On the other hand, if NFIA is zero, Domestic income will be equal to National 

Income.                                            (To be marked as a whole) 

(ii) Distinguish between positive externalities and negative externalities with suitable 

examples. 

Ans.  Positive externalities refer to benefits caused by one entity to another without 

being paid for it. 

Example: Newly developed public park.  

Whereas; 

Negative externalities refer to harms caused by one entity to another, without being 

penalised for it. 

Example: Smoke emitted by a factory.  

(Any other suitable example to be awarded marks) 

 

 

 

 

 

3 

 

 

 

 

 

1 

 

½ 

 

1 

 

½ 

 OR 6 

(b) (i) “In a two-sector economy, consumption expenditure by households is always equal to 

aggregate expenditure on goods and services produced by the firms.” 

Do you agree with the given statement ? Support your answer with a valid explanation. 

Ans. Yes. In a two-sector economy model, households are the owners of factors of 

production (Land, Labour, Capital, Entrepreneur). Firms combine these factors of 

production to produce goods and services. They make factor payments (Rent, Wages, 

Interest, Profits) to households, which in turn, are completely spent by the households 

on the consumption of final goods and services. 

Thus, the income earned by the factors of production flows back to the production 

units in the form of aggregate consumption expenditure.        (To be marked as a whole) 

(ii) “Problem of Double Counting leads to overestimation of output in an economy.” 

Justify the given statement with the help of suitable example. 

Ans. Problem of double counting refers to counting the value of goods and services 

more than once. This leads to an overestimation of the output in the economy. 

Example: A farmer had produced ₹ 100 worth of wheat for which no inputs were 

required. The baker had to buy ₹ 50 worth of wheat to produce bread worth ₹ 200. To 

estimate the net contribution of the baker, the value of wheat (₹ 50) needs to be 

subtracted from the value of bread. Otherwise, ₹ 50 worth of wheat will be counted 

twice leading to the problem of double counting. 

 

 

 

 

 

 

3 

 

 

 

 

 

 

1½  

 

 

1½ 

  6 
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17. 

  

 

 

 

 

 

 

 

 

 

 

 

  

 

Read the following text carefully : 

The Union Budget 2025-26 introduces a series of measures aimed at strengthening the 

Micro, Small, and Medium Enterprises (MSME) sector. It recognizes the role of MSMEs as 

one of the key engines in India’s journey of development, along with agriculture, investment 

and exports. 

As a vital contributor to India’s industrial landscape, the MSME sector plays a crucial role 

in manufacturing sector, exports and employment generation. 

The new budgetary provisions aim to build on this strong foundation by fostering innovation, 

enhancing competitiveness and ensuring better access to resources. 

Furthermore, the Government’s ongoing initiatives like the Udyam registration portal, PM 

Vishwakarma, PMEGP, SFURTI, and the Public Procurement Policy continue to 

demonstrate a combined effort towards integrating and empowering MSMEs. 

On the basis of given text and common understanding, answer the following questions: 

 

(a) “MSMEs play a pivotal role in the India’s journey of development” 

Do you agree with the given statement? Give valid reason in support of your answer. 

Ans. Yes, Micro, Small, and Medium Enterprises (MSME) sector is one of the key 

engines in India’s journey of development, along with agriculture, investment, and 

exports. The MSME sector plays a pivotal role in manufacturing sector, exports and 

employment generation.                     (To be marked as a whole) 

 

(b) Explain key measures initiated by the Government for strengthening MSMEs. 

Ans. The key measures initiated by the Government for strengthening MSMEs are 

supportive initiatives like Udyam registration portal, PM Vishwakarma, PMEGP, 

SFURTI, and the Public Procurement Policy to integrate and empower MSMEs. 

(To be marked as a whole) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3  

 

 

 

 

 

 

3  

  6 

SECTION – B 

(Indian Economic Development) 

18. Identify, which of the following is not a feature of physical capital. 

              (Choose the correct option) 

 (i) Tangibility 

(ii) Tradability 

(iii) Immobility 

Options: 

(A) (i) and (ii)     (B) (ii) and (iii) 

(C) (i) and (iii)     (D) (i), (ii), and (iii) 

Ans. (B) (ii) and (iii) or (C) (i) and (iii) or (D) (i), (ii) and (iii) 

 

 

 

 

 

 

 

1 

19. Prime beneficiary of the Minimum Support Price (MSP) fixed by the government is 

__________.     (Choose the correct option to fill in the blank) 

(A) Labourer     (B) Consumer 

(C) Trader (Buyer)    (D) Farmer 

Ans. (D) Farmer 

 

 

 

1 

20. Identify, the incorrect feature associated with the formal sector of employment in any 

economy.             (Choose the correct option)                           

(A) Job security    (B) Social security benefits 

(C) Irregular payments   (D) Fixed working hours 

Ans. (C) Irregular payments 

 

 

 

1 

21. Read the following statements carefully :  
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Statement 1: In order to address the problem of water and air pollution in India, the 

Government of India had established the Central Pollution Control Board (CPCB). 

Statement 2: Deforestation leads to the permanent destruction of indigenous forests. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (A) Statement 1 is true and Statement 2 is false. 

 

 

 

 

 

 

 

 

1 

22. Modernization is an important economic planning objective that focuses on __________. 

      (Choose the correct option to fill in the blank) 

(i) Adoption of innovative technology 

(ii) Bringing positive change in social outlook 

(iii) Equal distribution of income and wealth 

(iv) Abolition of intermediaries 

Options : 

(A) (i) and (iv)     (B) (i) and (iii) 

(C) (i), (iii) and (iv)    (D) (i) and (ii) 

Ans. (D) (i) and (ii) 

 

 

 

 

 

 

 

 

1 

23. Recently, India hosted and chaired the summit of __________ one of the regional and 

economic groupings.    (Choose the correct option to fill in the blank) 

(A) SAARC     (B) G8 

(C) ASEAN     (D) G20 

Ans. (D) G20 

 

 

 

1 

24. Under __________ unemployment the marginal productivity of a worker is equal to zero. 

      (Choose the correct option to fill in the blank) 

(A) Seasonal      (B) Structural 

(C) Involuntary     (D) Disguised 

Ans. (D) Disguised 

 

 

 

 

1 

25. __________ is one of the demographic indicators in which Pakistan is ahead of India and 

China.                 (Choose the correct option to fill in the blank) 

(A) Urbanisation    (B) Fertility rate 

(C) Population density   (D) Sex ratio 

Ans. (B) Fertility rate 

 

 

 

 

1 

26. Outsourcing from India has become more intensified in recent times due to the expansion 

of the __________ sector.   (Choose the correct option to fill in the blank) 

(A) Agriculture    (B) Manufacturing 

(C) Information Technology   (D) Construction 

Ans. (C) Information Technology 

 

 

 

1 

27. Suppose the percentage of casual workers rises in an economy as compared to the regular 

workers. This situation may be known as __________ of workforce. 

      (Choose the correct option to fill in the blank) 

(i) Formalisation 

(ii) Casualisation 

(iii) Unemployment 

Options: 

(A) (i) and (ii)     (B) (ii) and (iii) 

(C) only (ii)     (D) only (i) 

Ans. (C) only (ii) 

 

 

 

 

 

 

 

 

1 

28. “Many economists believe that India paid a very heavy price for the British industrialisation, 

by becoming their feeder economy.” 
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(a) 

 

 

 

 

 

 

 

(b) 

Justify the given statement with any one valid argument. 

Ans. During British rule, India was transformed into a mere exporter of raw materials 

for British industries, leading to a large export surplus. However, this came at a 

significant cost to India's economy, with essential commodities like food grains, clothes 

etc. becoming scarce in the domestic market. Policies like the commercialization of 

agriculture ensured maximum benefit for Britain. While India's exports grew, the 

benefits rarely reached the Indian population. 

(Any other valid argument to be awarded marks) 

OR 

Critically appraise, infrastructural development in India during the British rule. 

Ans. Under colonial rule, basic infrastructure facilities were developed in India. It 

enabled people to travel long distances thereby breaking geographical and cultural 

barriers. Moreover, it fostered commercialisation of Indian agriculture which 

adversely affected the self-sufficiency of the village economies in India. Furthermore, 

the colonial dispensation also took measures for developing the inland trade and sea 

lanes. Nevertheless, these measures were far from satisfactory. 

             (To be marked as a whole) 

               (Any other valid explanation to be awarded marks) 

 

 

 

3 

 

 

 

 

 

 

 

3 

29. 

 

Some economists argue that : 

"Post-1991 economic reforms, globalisation played a major role in poor performance of the 

industrial sector." 

Present your arguments to justify the given statement. 

Ans. With the onset of globalisation post-1991 economic reforms, developing countries 

are compelled to open up their economies to the greater flow of goods and capital from 

developed countries. Cheaper imports have, thus, replaced the demand for domestic 

goods. Domestic manufacturers are facing competition from foreign producers leading 

to a slowdown of industrial growth. Hence, Globalisation adversely affected the 

performance of the industrial sector.         (To be marked as a whole) 

 

 

 

 

 

3 

 

30. 

 

Compare and analyse the following information related to distribution of employment in 

India : 

 

 

 

Ans. In India, the Primary sector has emerged as a major source of employment with 

a greater concentration of female workers (57.1%) as compared to males (40.7%). The 

secondary sector accommodates 177% of female workers and 265% of male workers. 

The service sector consists of 328% of male and 252% of female workers. Thus, it can 

be concluded that men get more opportunities in both secondary and service sectors 

whereas females are mainly found working in the primary sector.  

    (To be marked as a whole) 

 

Note : The following question is for the Visually Impaired Candidates only, in lieu of  

Q. No. 30. 

"Compared to urban women, more rural women are found working." 

Justify the given statement with valid explanation. 

Ans. Women in rural areas are more actively engaged in the economic activities as 

compared to their urban counterparts due to a paucity of resources. In rural areas, 

 

 

 

 

 

 

 

 

 

 

 

4 

 

 

 

 

 

 

 

 

 

4 
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women are compelled to work as their economic condition may force them to do so. 

Moreover, in urban areas, where men are able to earn high incomes, families discourage 

female members from taking up jobs.         (To be marked as a whole) 

31. 

(a) 

State and explain any two steps undertaken by the Government of India for the protection 

and promotion of Small-scale Industries between 1950 – 1990. 

Ans. The steps initiated by Government of India for the protection and promotion of 

Small-scale Industries between 1950 – 1990 are: 

• Reservation of products: The production of several products was reserved for 

SSIs, depending upon their ability to manufacture these goods.  

• Financial Incentives: They were given concession such as lower excise duty and 

bank loans at lower interest rates.  

 

 

 

 

½+1½  

 

½+1½  

 OR 4 

(b) Elaborate the role of land ceiling as an institutional reform in agricultural sector during the 

planning period of India. 

Ans. After India attained independence, institutional reforms such as land ceiling were 

introduced to promote equity in the agricultural sector. Land ceiling refers to fixing 

the maximum size of agricultural land that could be owned by an individual. The 

purpose of the land ceiling was to reduce the concentration of land ownership in a few 

hands. By ensuring a more equitable distribution of land, the land ceiling was seen as 

a crucial measure to enhance agricultural productivity and contribute to overall 

growth in the sector.           (To be marked as a whole) 

 

 

 

 

4 

32. 

 

Argue in favour of the need for different forms of government intervention in the education 

and health sectors. 

Ans. Education and healthcare services play a vital role in socio-economic welfare for 

the masses. Government intervention is essential as spending on these sectors has long-

term, irreversible impacts. Moreover, consumers often lack complete information 

about service quality and costs, leading to monopoly power and potential exploitation 

by private providers. To avoid this, the government must regulate these services, 

ensuring adherence to standards and fair pricing. Hence, it is imperative for the 

government to make these essential services accessible to all sections of society. 
       (To be marked as a whole) 

 

 

 

 

4 

 

 

 

33. 

(a) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(i) Explain any two similar developmental strategies followed by India and Pakistan in the 

post 1947 era. 

Ans. Similar developmental strategies were adopted by India and Pakistan for their 

respective development paths as: 

• Both the nations have followed the path of mixed economic system involving the 

public as well as the private sector. 

• Both India and Pakistan adopted import substitution policy in order to protect 

their domestic industries from foreign competition. 

(Any other valid strategy to be awarded marks)  

(ii) State and discuss any two reasons for slow economic growth in Pakistan. 

Ans. The reasons for the slow growth in Pakistan are: 

• Volatile performance of agriculture sector: Pakistan experienced uneven 

agricultural growth, food supply situation which were dependent on good 

harvest and not on the institutional process of technical change.  

• Increasing dependence on foreign funds: Pakistan faced the problems of 

overdependence on remittances, rising foreign loans and increased difficulty in 

paying back the loans. 

            (Any other valid reason to be awarded marks) 

 

 

 

 

1 ½  

 

1 ½  

 

 

 

 

½ + 1 

 

 

½ + 1 

 

 OR 6 
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(b) (i) “China used the tool of Special Economic Zones for its economic development very 

effectively.” 

Justify the given statement with  valid explanation. 

Ans. The setting up of Special Economic Zones (SEZs) in China led to a substantial 

increase in Foreign Direct Investment (FDI) in the economy. With the massive inflow 

of foreign capital and technology, the productive capacity increased manifold, thereby 

contributing to the rapid economic development of China. 

 

(ii) Mention and discuss any two indicators of human development, where China has 

performed well. 

Ans. The two indicators of human development, where China has performed well are: 

• Maternal Mortality Rate: The Maternal Mortality Rate in China is low due to 

better public health facilities.  

• Poverty: The proportion of the population below the poverty line in China has 

reduced over time.       (Any other valid indicator to be awarded marks) 

 

 

 

 

3 

 

 

 

 

 

½+1  

 

½+1 
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34. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Read the following text carefully: 

The National-Level Multi-State Cooperative Society recently approved by the Union 

Cabinet for promoting organic production and exports, will help the farmers to increase their 

income manifold. 

The arrangements for testing of land and selection of natural form of products will be set up 

in each district in the coming five years. 

Government has also decided to set up a cooperative society in all Panchayats, which will 

ensure that the Central Government’s schemes reach the farmers. 

Wide use of urea has spoiled farmland, and lakhs of farmers have moved towards organic 

farming. 

To get better prices, there is a need for marketing and certification of such produce. 

Furthermore, steps must be taken to ensure that fake organic products do not hit the market. 

 

On the basis of the given text and common understanding, answer the following questions: 

(a) Define organic farming. 

Ans. Organic farming is a whole system of farming that restores, maintains and 

enhances the ecological balance. 

(b) State any two benefits of organic farming. 

Ans. Advantages of Organic farming are: 

• Soil conservation. 

• Nutritional food.          (Any other valid benefit to be awarded marks) 

 

(c) Explain the steps taken by the government to promote organic products. 

Ans. The steps taken by the government to promote organic products are: 

• Testing of land and selection of natural form of products will be set up in each 

district in the coming five years. 

• Set up a cooperative society in all Panchayats, which will ensure that the Central 

Government’s schemes reach the farmers. 

                 (Any other valid step to be awarded marks) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

1 

1 

 

 

 

1 ½  

 

1 ½  
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Marking Scheme Hindi Medium 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination,2025 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/7/1) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers.These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totaled up and written in the left-

hand margin and encircled. This may be followed strictly. 
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8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80  has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Guidelines). 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:- Giving more marks for an answer than assigned to it. 

● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Leaving answer or part thereof unassessed in an answer book. 
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 

the title page, correctly totaled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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अंकन योजना हिन्दी माध्यम 

सीननयर सू्कल सनटिनिकेट परीक्षा, 2025  

अर्िशास्त्र ( निषय कोड – 030) 

[प्रश्न-पत्र कोड : 58/7/1] 

अनिकतम अंक : 80 

प्र.सं अपेनक्षत उत्तर/मूल्य न ंदु अंक 

खण्ड - क 

(समनि अर्िशास्त्र) 

1. निम्ननिखित कथि ों का ध्यािपूर्वक अध्ययि कीनिए : 

कथि 1: अन्य बातें समाि रहिे पर, नर्देशी मुद्रा की कीमत और इसकी मााँग के बीच सकारात्मक सोंबोंध है। 

कथि 2: नर्देशी नर्निमय दर एक देश की अोंतरावष्ट्र ीय बाजार ों में क्रय शखि क  दशावती है। 

नदए गए कथि ों के आि क में, निम्ननिखित में से सही नर्कल्प का चयि कीनिए : 

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 द ि ों सत्य हैं। 

(D) कथि 1 और 2 द ि ों असत्य हैं। 

उत्तर - (B) कर्न 1 असत्य है और कर्न 2 सत्य है। 

 

 

 

 

 

 

1 

2. उपिब्ध सूचिा का उपय ग करते हुए, निम्ननिखित तानिका क  पूरा कीनिए :    (सही नर्कल्प का चयि कीनिए) 

 2014 - 2015 2015 - 2016 

मौनद्रक GDP 6.5 9 

र्ास्तनर्क GDP ………(i)........... 7.2 

GDP अपस्फीनतकारक 100 ………(ii)........... 

निकल्प : 

(A) 125, 100                    (B) 125, 110 

(C) 6.5, 125                     (D) 100, 6.5 

उत्तर - (C) 6.5, 125 

 

 

 

 

 

 

 

 

 

1 

3. भारत में _____________ मुद्रा आपूनतव के आाँकडे िारी करता है। 

(ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) कॉपोरेशि बैंक 

(B) भारतीय ररजर्व बैंक 

(C) र्ानिखिक बैंक 

(D) भारतीय से्टट बैंक 

उत्तर - (B) भारतीय ररज़िि  ैंक 

 

 

 

 

 

1 

4. निखिखित कथि ों – अनभकथि (A) और कारि (R) का ध्यािपूर्वक अध्ययि कीनिए। िीचे नदए गए नर्कल्प ों में 

से सही नर्कल्प का चयि कीनिए : 

अनभकथि (A) : नकसी भारतीय कों पिी द्वारा नर्देशी कों पनिय ों क  प्रदाि की िािे र्ािी िौर्हि (shipping) सेर्ाओों 

क  भुगताि सोंतुिि (BOP) के चािू िाते में दिव नकया िाएगा। 

कारि (R) : भुगताि सोंतुिि (BOP) का चािू िाता भारत के निर्ानसय ों की पररसोंपनिय ों या देयताओों की खस्थनत 

में पररर्तवि िही ों करता है। 

निकल्प : 

(A) अनभकथि (A) एर्ों कारि (R) द ि ों सत्य हैं और कारि (R), अनभकथि (A) की सही व्याख्या है। 

(B) अनभकथि (A) और कारि (R) द ि ों सत्य हैं, िेनकि कारि (R), अनभकथि (A) की सही व्याख्या नही ंहै। 

(C) अनभकथि (A) सत्य है, िेनकि कारि (R) असत्य है। 

(D) अनभकथि (A) असत्य है, िेनकि कारि (R) सत्य है। 
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उत्तर - (A) अनभकर्न (A) एिं कारण (R) दोनो ंसत्य हैं और कारण (R), अनभकर्न (A) की सही व्याख्या 

है। 

1 

5. र्ानिखिक बैंक ों क  साि सृिक कहा िाता है, क् ोंनक :             (सही नर्कल्प का चयि कीनिए) 

(A) रे् कें द्रीय बैंक से प्रनतभूनतयााँ क्रय करते हैं। 

(B) उिके द्वारा प्रदि ऋि िमा रानश उत्पन्न करते हैं। 

(C) रे् सरकार के बैंकर के रूप में कायव करते हैं। 

(D) रे् अथवव्यर्स्था में ऋि दर क  नर्नियनमत करते हैं। 

उत्तर - (B) उनके द्वारा प्रदत्त ऋण जमा रानश उत्पन्न करते हैं। 

 

 

 

 

1 

6. माि िीनिए, उपय ग फिि नदया गया है : 

C = 205 + 0.9Y है।   (िहााँ C = कुि उपभ ग और Y = राष्ट्र ीय आय) 

निरे्श गुिक (K) का मूल्य ______________ ह गा। (ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) 0.09 

(B) 10.0 

(C) 0.9 

(D) 9.0 

उत्तर - (B) 10.0 

 

 

 

 

 

1 

7. सीमाोंत उपभ ग प्ररृ्नि (MPC) क  ______________ फिि के ढिाि द्वारा दशावया िाता है। 

(ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) बचत 

(B) उपभ ग 

(C) उत्पादि 

(D) िागत 

उत्तर - (B) उपभोग 

 

 

 

 

 

1 

8. निम्ननिखित कथि ों का ध्यािपूर्वक अध्ययि कीनिए : 

कथि 1 : िुिे बाजार सोंचािि से तात्पयव, कें द्रीय बैंक द्वारा सरकारी प्रनतभूनतय ों (G-Sec) के क्रय/नर्क्रय से है। 

कथि 2 : मुद्रा आपूनतव क  कम करिे के निए, कें द्रीय बैंक र्ानिखिक बैंक ों क  सरकारी प्रनतभूनतयााँ नर्क्रय 

करेगा। 

नदए गए कथि ों के आि क में, निम्ननिखित में से सही नर्कल्प का चयि कीनिए : 

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 और 2 द ि ों सत्य हैं। 

(D) कथि 1 और 2 द ि ों असत्य हैं। 

उत्तर - (C) कर्न 1 और 2 दोनो ंसत्य हैं। 

 

 

 

 

 

 

 

1 

9. एक िेिाोंकि र्र्व के दौराि, अथवव्यर्स्था में समग्र व्यय क  ______________ के रूप में भी िािा िाता है। 

(ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) स्वायि निरे्श 

(B) समग्र पूनतव 

(C) समग्र मााँग 

(D) पे्रररत निरे्श 

उत्तर - (C) समग्र मााँग 

 

 

 

 

 

1 

10. कीिेनसयि अथवशास्त्र में 45° रेिा ______________ की ओर इोंनगत करती है। 

(ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) आय > उपभ ग 

(B) बचत > निरे्श 

(C) उपभ ग > आय 

(D) आय = उपभ ग 

उत्तर - (D) आय = उपभोग 

 

 

 

 

1 

11. 

(क) 

निम्ननिखित आाँकड ों से ‘नबक्री’ के मूल्य की गििा कीनिए :  
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क्रम संख्या नििरण रानश (₹ लाख में) 

(i) उपदाि  200 

(ii) प्रचािि अनधशेर् 500 

(iii) प्रारों नभक स्टॉक 100 

(iv) अोंनतम स्टॉक 600 

(v) मध्यर्ती उपभ ग 3,000 

(vi) खस्थर पूोंिी का उपभ ग 700 

(vii) िाभ 750 

(viii) साधि िागत पर शुद्ध मूल्य रृ्खद्ध (NVAFC) 2,000 

उत्तर - न क्री का मूल्य = (viii) – {(iv) – (iii)} + (v) – (i) + (vi) 

            = 2,000 – (600 – 100) + 3,000 – 200 + 700 

                      = ₹ 5,000 लाख 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 ½  

1 

½  

 अर्िा 3 

(ख) आय नर्नध द्वारा राष्ट्र ीय आय का आकिि करते समय बरती िािे र्ािी नकन्ी ों द  सार्धानिय ों क  उले्लखित 

कीनिए र् समझाइए। 

उत्तर: आय निनि द्वारा रािर ीय आय का अनुमान लगाते समय ननम्न दो साििाननयााँ  रती जानी चानहए: 

● हस्ांतरण आय को सम्मिनलत नही ंनकया जाना चानहए क्ोनंक िे एकतरिा प्रकृनत की होती हैं। 

● पुरानी िसु्ओ ंकी न क्री से होने िाली आय को सम्मिनलत नही ंनकया जाना चानहए क्ोनंक यह 

चालू िषि में अर्िव्यिस्था में िसु्ओ ंऔर सेिाओ ंके प्रिाह में िृम्मि नही ंकरती है। 

(कोई अन्य मान्य साििानी के नलए भी अंक प्रदान नकए जाएं) 

 

 

1 ½  

1 ½  

  3 

12. िीचे नदए गए नचत्र में दशावए गए, कें द्रीय बैंक के नकसी एक कायव की पहचाि कीनिए र् समझाइए : 

 
 

उत्तर - कें द्रीय  ैंक अर्ाित भारतीय ररजिि  ैंक (RBI) के नननदिि कायों में से एक '  ैंको ंका  ैंक और 

पयििेक्षक' है।  

RBI िानणम्मिक  ैंको ंसे जमा स्वीकार करता है और आिश्यकता पड़ने पर उन्हें ऋण भी देता है। यह 

सभी िानणम्मिक  ैंको ंके भंडार को  नाए रखता है और इसका उपयोग अंतर- ैंकीय दािो ंको ननपटाने 

के नलए करता है।  ैंनकंग प्रणाली का सिोच्च प्रानिकरण होने के नाते, यह िानणम्मिक  ैंको ंके नलए अंनतम 

ऋणदाता के रूप में नित्तपोषक का कायि करता है। RBI िानणम्मिक  ैंको ंका पयििेक्षण, निननयमन और 

ननयंत्रण करता है।  

(नकसी अन्य प्रासंनगक कायि के नलए भी अंक प्रदान नकए जाएं) 
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 नोट: निम्ननिखित प्रश्न केर्ि दृनि ानित परीक्षानर्ियो ंके निए प्रश्न सोंख्या 12 के स्थाि पर है। 

कें द्रीय बैंक के नकसी एक कायव की व्याख्या कीनिए। 

उत्तर - कें द्रीय  ैंक '  ैंको ंका  ैंक और पयििेक्षक' के रूप में कायि करता है। कें द्रीय  ैंक िानणम्मिक  ैंको ं

से जमा स्वीकार करता है और आिश्यकता पड़ने पर उन्हें ऋण भी देता है। यह सभी िानणम्मिक  ैंको ंके 

भंडार को  नाए रखता है और इसका उपयोग अंतर- ैंकीय दािो ंको ननपटाने के नलए करता है।  ैंनकंग 

प्रणाली का सिोच्च प्रानिकरण होने के नाते, यह िानणम्मिक  ैंको ंके नलए अंनतम ऋणदाता के रूप में 

नित्तपोषक का कायि करता है। कें द्रीय  ैंक, िानणम्मिक  ैंको ंका पयििेक्षण, निननयमन और ननयंत्रण करता 

है।      (नकसी अन्य प्रासंनगक कायि के नलए भी अंक प्रदान नकए जाएं) 

 

 

 

3 

13. 

 

(i) "नकसी अथवव्यर्स्था में, प्रत्यानशत निरे्श (I) प्रत्यानशत बचत (S) से अनधक है।" 

दी गई खस्थनत का उत्पाद, र िगार र् आय पर सोंभानर्त प्रभार् ों की व्याख्या कीनिए। 

उत्तर - ज  प्रत्यानशत ननिेश (I), प्रत्यानशत  चत (S) से अनिक होता है, तो इसका अर्ि है नक गृहस्थ, 

िमों द्वारा अपेनक्षत उपभोग से अनिक उपभोग करने की योजना  ना रहे हैं। इससे मालसूची का 

अनपेनक्षत निसंचय होगा। मालसूची के िांनित स्र को  नाए रखने के नलए, उत्पादक अर्िव्यिस्था में 

उत्पादन में िृम्मि कर सकते हैं नजससे उत्पादन, रोजगार और आय के स्र में िृम्मि हो सकती है।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

(ii) अनधमाोंग क  पररभानर्त कीनिए। 

उत्तर - अनिमांग से तात्पयि उस म्मस्थनत से है, ज  उत्पादन के पूणि रोजगार स्र के अनुरूप समग्र मांग 

(AD), समग्र पूनति (AS) से अनिक हो जाती है। 
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14. 

(क)  

 

 

 

 

 

 

(i) भुगताि सोंतुिि र् व्यापार सोंतुिि में नर्भेद स्पष्ट् कीनिए। 

उत्तर - भुगतान संतुलन (BoP) एक लेखा नििरण है जो, नकसी एक रािर  के ननिानसयो ंऔर शेष निश्व के 

मध्य एक नननित समयािनि में होने िाले सभी आनर्िक लेन-देन को अंनकत करता है। इसमें िसु्ओ,ं 

सेिाओ ंऔर पररसंपनत्तयो ंका लेन-देन सम्मिनलत होता है।  

ज नक,  

व्यापार संतुलन (BOT) नकसी नननित अिनि में नकसी रािर  के नलए िसु्ओ ंके ननयाित के मूल्य और आयात 

के मूल्य के मध्य का अंतर है। इसमें केिल िसु्ओ ंमें लेन-देन सम्मिनलत होता है। 

(ii) चािू िाता अनधशेर् क  पररभानर्त कीनिए। 

उत्तर - चालू खाता अनिशेष (CAS) त  उत्पन्न होता है, ज  िसु्ओ ंएिं सेिाओ ंके ननयाित और एकतरिा 

हस्ांतरण से प्राम्मियां, िसु्ओ ंएिं सेिाओ ंके आयात और एकतरिा हस्ांतरण के नलए भुगतान से 

अनिक होती हैं। 

 

1 ½  

 

 

1 ½  
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 अर्िा 4 

(ख)  (i) उपयुि उदाहरि का उपय ग करते हुए, प्रत्यक्ष नर्देशी निरे्श (FDI) र् नर्देशी सोंस्थागत निरे्श (FII) में अोंतर 

स्पष्ट् कीनिए। 

उत्तर - प्रत्यक्ष निदेशी ननिेश (FDI) का तात्पयि भौनतक पररसंपनत्तयो ंमें प्रत्यक्ष निदेशी ननिेश से है, नजसमें 

िमि पर कािी हद तक प्रभाि और ननयंत्रण होता है।  

ज नक;  

निदेशी संस्थागत ननिेश (FII) का तात्पयि स्टॉक,  ॉन्ड या अन्य नित्तीय पररसंपनत्तयो ंमें निदेशी ननिेश से 

है।  इसमें िमि पर सनक्रय प्र ंिन या ननयंत्रण शानमल नही ंहोता है। 

(ii) पूोंिी िाते के घटक के रूप में नर्देशी सहायता (External Assistance) के नकसी एक उदाहरि का 

उले्लि कीनिए। 

उत्तर - नद्वपक्षीय ऋण       (नकसी अन्य प्रासंनगक उदाहरण के नलए भी अंक प्रदान नकए जाएं) 

 

 

1 ½  

 

1 ½  
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15. 

 

 

 "नकसी अथवव्यर्स्था में अपस्फीनतकारी अोंतराि की खस्थनत क  सही करिे में मानिवि आर्श्यकताएाँ  अत्योंत 

सहायक ह ती हैं।" 

नदए गए कथि का, मान्य तकों सनहत औनचत्य नसद्ध कीनिए। 

उत्तर - मानजिन आिश्यकता से तात्पयि ऋण की रानश और ऋण के निरुि उिार प्रािकताि द्वारा नदए गए 

ऋणिार के मूल्य के मध्य के अंतर से है। अपस्फीनतकारी अंतराल की म्मस्थनत को ठीक करने के नलए, 

कें द्रीय  ैंक मानजिन आिश्यकता को कम कर सकता है। इससे नदए गए ऋणािार पर उपलब्ध ऋण की 

मात्रा में िृम्मि हो सकती है। 

 

 

 

4 
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इससे ऋण की उपलब्धता  ढेगी तर्ा इसके पररणामस्वरूप, अर्िव्यिस्था में समग्र मांग  ढेगी। 

इस प्रकार, मानजिन आिश्यकताओ ंको  दलकर, कें द्रीय  ैंक,  ैंको ंद्वारा ऋणािार के निरुि नदए गए 

ऋण की रानश को पररिनतित कर सकता है।      (पूरे उत्तर को एक सार् अंनकत नकया जाए) 

16. 

(क)  

 

 

 

 

 

 

 

 

 

 

 

(i) "घरेिू आय सदैर् राष्ट्र ीय आय से कम ह ती है।" 

क्ा आप नदए गए कथि से सहमत हैं? अपिे उिर के समथवि में मान्य तकव  प्रसु्तत कीनिए। 

उत्तर - नही।ं रािर ीय आय का मूल्य जानने के नलए निदेशो ंसे शुि कारक आय (NFIA) को घरेलू आय में 

जोड़ना होगा। ज  NFIA सकारात्मक होगी अर्ाित निदेश से कारक आय, निदेश को कारक आय से 

अनिक होगी तो घरेलू आय, रािर ीय आय से कम होगी। ज नक, ज  NFIA नकारात्मक होगी अर्ाित निदेश 

से कारक आय, निदेश को कारक आय से कम होगी तो घरेलू आय, रािर ीय आय से अनिक होगी, दूसरी 

ओर, यनद NFIA शून्य है, तो घरेलू आय, रािर ीय आय के  रा र होगी।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

(ii) उपयुि उदाहरि ों सनहत, धिात्मक बाह्यताओों र् ऋिात्मक बाह्यताओों के अोंतर स्पष्ट् कीनिए। 

उत्तर -  सकारात्मक  ाह्यताएाँ  एक इकाई द्वारा दूसरी इकाई को पहाँचाए जाने िाले उन लाभो ंको संदनभित 

करती हैं नजनके नलए कोई भुगतान नही ंनकया जाता।  

उदाहरण: नि निकनसत साििजननक पाकि । 

ज नक; 

नकारात्मक  ाह्यताएाँ  एक इकाई द्वारा दूसरी इकाई को पहंचाई जाने िाली हानन को संदनभित करती हैं, 

नजसके नलए कोई अर्िदंड नही ंनदया जाता। 

उदाहरण: नकसी कारखाने से ननकलने िाला िुआाँ। 

    (नकसी अन्य प्रासंनगक उदाहरण के नलए भी अंक प्रदान नकए जाएं) 
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(ख) (i) "एक नद्व-के्षत्रक अथवव्यर्स्था में, गृहस्थ ों द्वारा नकया गया उपभ ग व्यय सदैर् फमों द्वारा उत्पानदत र्सु्तओों र् 

सेर्ाओों पर हुए समग्र व्यय के बराबर ह ता है।" 

क्ा आप नदए गए कथि से सहमत हैं? अपिे उिर के समथवि में रै्ध व्याख्या दीनिए। 

उत्तर - हााँ। एक नद्व-के्षत्रीय अर्िव्यिस्था में, गृहस्थ उत्पादन के कारको ं(भूनम, श्रम, पंूजी, उद्यमिृनत्त) के 

स्वामी होते हैं। िमि, उत्पादन के इन कारको ंकी सहायता से िसु्ओ ंऔर सेिाओ ंका उत्पादन करती हैं 

और इसके नलए गृहस्थो ंको कारक भुगतान (नकराया, मजदूरी, ब्याज, लाभ) करती हैं।  दले में, गृहस्थो ं

द्वारा प्राि यह आय अंनतम िसु्ओ ंऔर सेिाओ ंके उपभोग पर पूरी तरह से व्यय कर दी जाती है। इस 

प्रकार, उत्पादन के कारको ंद्वारा अनजित आय, कुल उपभोग व्यय के रूप में उत्पादन इकाइयो ंको िापस 

प्रिानहत हो जाती है।         (पूरे उत्तर को एक सार् अंनकत नकया जाए) 

 

(ii) "द हरी गििा समस्या के कारि नकसी अथवव्यर्स्था में उत्पादि का अिुमाि अनधक िग िाता है।" 

उपयुि उदाहरि ों की सहायता से, नदए गए कथि का औनचत्य नसद्ध कीनिए। 

उत्तर - दोहरी गणना की समस्या से तात्पयि, उत्पादन प्रनक्रया में िसु्ओ ंऔर सेिाओ ंके मूल्य की एक से 

अनिक  ार गणना करने से है। इससे अर्िव्यिस्था में उत्पादन का अनिमूल्यांकन हो जाता है।  

उदाहरण: माना एक नकसान ₹ 100 मूल्य के गेहं का उत्पादन करता है नजसके नलए उसे नकसी प्रकार के 

आगत की आिश्यकता नही ंर्ी। एक  ेकर इस नकसान से ₹ 50 के मूल्य का गेहं खरीदकर ₹ 200 की 

बे्रड  नाता है। इसमें  ेकर के सकल योगदान का अनुमान लगाने के नलए बे्रड के मूल्य (₹ 200) में से, गेहं 

के मूल्य (₹ 50) को घटाया जाना चानहए। अन्यर्ा गेहं का मूल्य (₹ 50) दो  ार नगना जाएगा। नजससे 

दोहरी गणना की समस्या उत्पन्न होगी।  
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17. 

  

 

 

 

 

 

निम्ननिखित गद्य का ध्यािपूर्वक अध्ययि करें : 

कें द्रीय बिट 2025-26 में सूक्ष्म, िघु र् मध्यम उद्यम (MSME) के्षत्र क  सुदृढ़ बिािे के उदे्दश्य से कई उपाय 

प्रसु्तत नकए गए हैं। यह कृनर्, निरे्श र् नियावत के साथ-साथ भारत की नर्कास यात्रा में MSME की भूनमका क  

एक प्रमुि इोंिि के रूप में मान्यता देता है। 

भारत के औद्य नगक पररदृश्य में एक महत्वपूिव य गदािकताव के रूप में MSME के्षत्र, नर्निमावि के्षत्र, नियावत र् 

र िगार सृिि में महत्वपूिव भूनमका निभाता है। 

िए बिटीय प्रार्धाि ों का उदे्दश्य िर्ाचार क  प्र त्सानहत करके, प्रनतस्पधावत्मकता में रृ्खद्ध करके तथा सोंसाधि ों 

तक बेहतर पहुाँच सुनिनित करके, एक सुदृढ़ िी ोंर् का निमावि करिा है। 

 

 

 

 

 

 

 



 

XII_030_58/7/1_Economics_2025 # Page-8 

 

 

 

 

 

 

 

  

 

इसके अिार्ा उद्यम पोंिीकरि प टवि, PM नर्श्वकमाव, PMEGP, SFURTI तथा सार्विनिक क्रय िीनत िैसी सरकार 

की नर्द्यमाि पहि ों िे MSMEs क  एकीकृत र् सशि बिािे की नदशा में एक सोंयुि प्रयास क  प्रदनशवत करिा 

िारी रिा हैं। 

नदए गए गद्य र् सामान्य ज्ञाि के आधार पर निम्ननिखित प्रश्न ों के उिर दीनिए: 

(क) "MSMEs भारत की नर्कास यात्रा में महत्वपूिव भूनमका निभाते हैं।" 

क्ा आप नदए गए कथि से सहमत हैं? अपिे उिर के समथवि में मान्य तकव  प्रसु्तत कीनिए। 

उत्तर - इस कर्न से सहमत हआ जा सकता है।  

सूक्ष्म, लघु ि मध्यम उद्यम (MSME) के्षत्र भारत की निकास यात्रा में कृनष, ननिेश और ननयाित के सार्-

सार् प्रमुख इंजनो ंमें से एक है। MSME के्षत्र निननमािण के्षत्र, ननयाित और रोजगार सृजन में महत्वपूणि 

भूनमका ननभाता है।          (पूरे उत्तर को एक सार् अंनकत नकया जाए) 

 

(ि) MSMEs क  सशि करिे के निए सरकार द्वारा उठाए गए प्रमुि उपाय ों की व्याख्या कीनिए। 

उत्तर - MSMEs को सशक्त करने के नलए सरकार द्वारा उठाए गए प्रमुख उपायो ंमें उद्यम पंजीकरण 

पोटिल, PM निश्वकमाि, PMEGP, SFURTI और MSMEs को एकीकृत और सशक्त  नाने के नलए 

साििजननक खरीद नीनत जैसी सहायक पहल सम्मिनलत हैं। 

   (पूरे उत्तर को एक सार् अंनकत नकया जाए) 

 

 

 

 

 

 

 

3  

 

 

 

3  

  6 

खंड – ख 

(भारतीय आनर्िक निकास) 

18. पहचाि कीनिए नक, निम्ननिखित में से कौि-सी भौनतक पूाँिी की एक नर्शेर्ता नही ंहै। 

 (सही नर्कल्प का चयि कीनिए) 

(i) मूतवता (Tangibility) 

(ii) व्यापार य ग्यता (Tradability) 

(iii) खस्थरता (Immobility) 

निकल्प: 

(A) (i) र् (ii)                            (B) (ii) र् (iii) 

(C) (i) र् (iii)                          (D) (i), (ii) र् (iii) 

उत्तर - (B) (ii) ि (iii) अर्िा (C) (i) ि (iii) अर्िा (D) (i), (ii) ि (iii) 

 

 

 

 

 

 

1 

19. सरकार द्वारा निधावररत नू्यितम समथवि मूल्य (MSP) का मुख्य िाभाथी __________ ह ता है। 

(ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) मिदूर                                (B) उपभ िा 

(C) व्यापारी (के्रता)                       (D) कृर्क 

उत्तर - (D) कृषक 

 

 

 

1 

20. नकसी भी अथवव्यर्स्था में र िगार के औपचाररक के्षत्र से सोंबोंनधत असत्य नर्शेर्ता की पहचाि कीनिए। 

(सही नर्कल्प का चयि कीनिए) 

(A) र िगार सुरक्षा                       (B) सामानिक सुरक्षा िाभ 

(C) अनियनमत भुगताि                 (D) निनित कायव घोंटे 

उत्तर - (C) अननयनमत भुगतान 

 

 

 

1 

21. निम्ननिखित कथि ों का ध्यािपूर्वक अध्ययि कीनिए: 

कथि 1: भारत में िि र् र्ायु प्रदूर्ि की समस्या के समाधाि हेतु भारत सरकार िे कें द्रीय प्रदूर्ि नियोंत्रि ब र्व 

(CPCB) की स्थापिा की थी। 

कथि 2: र्ि ों की कटाई से स्वदेशी र्ि ों (Indigenous Forests) का स्थायी नर्िाश ह ता है। 

नदए गए कथि ों के आि क में, निम्ननिखित में से सही नर्कल्प का चयि कीनिए: 

(A) कथि 1 सत्य है और कथि 2 असत्य है। 

(B) कथि 1 असत्य है और कथि 2 सत्य है। 

(C) कथि 1 र् 2 द ि ों सत्य हैं। 

(D) कथि 1 र् 2 द ि ों असत्य हैं। 

उत्तर - (A) कर्न 1 सत्य है और कर्न 2 असत्य है। 

 

 

 

 

 

 

 

1 
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22. आधुनिकीकरि एक महत्वपूिव आनथवक निय िि उदे्दश्य है, ि  __________ पर कें नद्रत ह ता है।                     

(ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(i) िर्ीि प्रौद्य नगकी क  अपिािे 

(ii) सामानिक दृनष्ट्क ि में सकारात्मक पररर्तवि िािे 

(iii) आय र् सोंपनि के समाि नर्तरि 

(iv) नबचौनिय ों के उनू्मिि 

निकल्प: 

(A) (i) और (iv)                        (B) (i) और (iii) 

(C) (i), (iii) और (iv)                (D) (i) और (ii) 

उत्तर - (D) (i) और (ii) 

 

 

 

 

 

 

 

1 

23. हाि में, भारत िे के्षत्रीय र् आनथवक समूह ों में से एक __________ के नशिर समे्मिि की मेिबािी र् अध्यक्षता की 

थी।      (ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) SAARC                        (B) G8 

(C) ASEAN                        (D) G20 

उत्तर - (D) G20 

 

 

 

1 

24. __________ बेर िगारी में नकसी श्रनमक की सीमाोंत उत्पादकता शून्य के बराबर ह ती है।                                 

(ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) मौसमी                         (B) सोंरचिात्मक 

(C) अिेखिक                     (D) प्रिन्न 

उत्तर - (D) प्रच्छन्न 

 

 

 

1 

25. __________ ििसाोंख्यकीय सूचक ों में से एक है, निसमें पानकस्ताि, भारत र् चीि से अग्रिी है।                          

(ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) शहरीकरि                        (B) प्रििि दर 

(C) ििसोंख्या घित्व                  (D) िैंनगक अिुपात 

उत्तर - (B) प्रजनन दर 

 

 

 

1 

26. __________ के्षत्र के नर्स्तार के कारि, हाि के नदि ों में, भारत से बाह्य प्रापि बहुत सशि ह  गई है।                 

(ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(A) कृनर्                                    (B) उत्पादि 

(C) सूचिा प्रौद्य नगकी                     (D) निमावि 

उत्तर - (C) सूचना प्रौद्योनगकी 

 

 

 

1 

27.  माि िीनिए नक, नकसी अथवव्यर्स्था में नियनमत श्रनमक ों की तुििा में आकखिक श्रनमक ों के प्रनतशत में रृ्खद्ध 

ह ती है। 

इस खस्थनत क  कायवबि __________ के रूप में िािा िा सकता है। 

(i) औपचाररकीकरि    (ररि स्थाि भरिे के निए सही नर्कल्प का चयि कीनिए) 

(ii) अनियनमतकरि (casualisation) 

(iii) बेर िगारी 

निकल्प: 

(A) (i) और (ii)                          (B) (ii) और (iii) 

(C) केर्ि (ii)                           (D) केर्ि (i) 

उत्तर - (C) केिल (ii) 

 

 

 

 

 

 

 

1 

28. 

(क)  

 

 

 

 

 

"कई अथवशाखस्त्रय ों का माििा है नक, भारत िे निनटश औद्य गीकरि के निए उिकी प र्क अथवव्यर्स्था बिकर 

बहुत भारी कीमत चुकाई है।" 

नकसी एक रै्ध तकव  द्वारा नदए गए कथि का औनचत्य नसद्ध कीनिए। 

उत्तर - नब्रनटश शासन के दौरान, भारत नब्रनटश उद्योगो ंके नलए कचे्च माल का ननयाितक  नकर रह गया, 

नजससे ननयाित अनिशेष में िृम्मि हई। हालााँनक, इससे भारत की अर्िव्यिस्था को भारी नुकसान उठाना 

पड़ा, क्ोनंक घरेलू  ाजार में खाद्यान्न, कपडे़ आनद जैसी आिश्यक िसु्एाँ  दुलिभ हो गई।ं कृनष के 

व्यािसायीकरण जैसी नीनतयो ंने नब्रटेन के नलए अनिकतम लाभ सुनननित नकया। ज नक, भारत के ननयाित 

में िृम्मि हई, लेनकन इसका लाभ भारतीय लोगो ंतक शायद ही कभी पहाँच पाया। 

(नकसी अन्य प्रासंनगक तकि  के नलए भी अंक प्रदान नकए जाएं) 
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(ख) 

अर्िा 

निनटश शासि के दौराि भारत में बुनियादी ढाोंचे के नर्कास का आि चिात्मक मूल्याोंकि कीनिए। 

उत्तर - औपननिेनशक शासन के दौरान भारत में  ुननयादी ढााँचे की सुनििाएाँ  निकनसत की गई।ं इसने 

लोगो ंको लं ी दूरी की यात्रा करने में सक्षम  नाया, नजससे भौगोनलक और सांसृ्कनतक  ािाएाँ  टूट गई।ं 

इसके अनतररक्त, इसने भारतीय कृनष के व्यािसायीकरण को  ढािा नदया, नजसने भारत में ग्रामीण 

अर्िव्यिस्थाओ ंकी आत्मननभिरता पर प्रनतकूल प्रभाि डाला। इसके सार् सार्, औपननिेनशक शासन ने 

अंतदेशीय व्यापार और समुद्री मागों के निकास के नलए भी कदम उठाए। निर भी, ये उपाय संतोषजनक 

नही ंरे्।          (पूरे उत्तर को एक सार् अंनकत नकया जाए) 

(नकसी अन्य प्रासंनगक स्पिीकरण  के नलया भी अंक प्रदान नकए जाएं) 

 

 

 

3 

29. 

 

कुछ अथवशाखस्त्रय ों का तकव  है नक: 

"1991 के आनथवक सुधार ों के उपराोंत औद्य नगक के्षत्र के िराब प्रदशवि के निए रै्श्वीकरि िे एक प्रमुि भूनमका 

निभाई।" 

नदए गए कथि का औनचत्य नसद्ध करिे के निए अपिे तकव  प्रसु्तत कीनिए। 

उत्तर - 1991 के आनर्िक सुिारो ंके उपरांत िैश्वीकरण के आरम्भ के सार्, निकासशील देशो ंको, निकनसत 

देशो ंसे िसु्ओ ंऔर पंूजी के अनिक प्रिाह के नलए अपनी अर्िव्यिस्थाओ ंको खोलने के नलए मज ूर होना 

पड़ा। इस प्रकार, ससे् आयात ने घरेलू िसु्ओ ंकी मांग को पररिनतित कर नदया है। घरेलू ननमािताओ ंको 

निदेशी उत्पादको ंसे प्रनतस्पिाि का सामना करना पड़ रहा है नजससे औद्योनगक निकास में मंदी आ रही 

है। इसनलए, िैश्वीकरण ने औद्योनगक के्षत्र के प्रदशिन को प्रनतकूल रूप से प्रभानित नकया है। 

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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30. 

 

भारत में र िगार के नर्तरि से सोंबोंनधत निम्ननिखित िािकारी की तुििा र् नर्शे्लर्ि कीनिए। 

 
उत्तर - भारत में, प्रार्नमक के्षत्र रोजगार के एक प्रमुख स्रोत के रूप में उभरा है, नजसमें पुरुषो ं(40.7%) 

की तुलना में मनहला श्रनमको ं(57.1%) की अनिक संख्या है। नद्वतीयक के्षत्र में 17⋅7% मनहला श्रनमक और 

26⋅5% पुरुष श्रनमक कायिरत हैं। सेिा के्षत्र में 32⋅8% पुरुष और 25⋅2% मनहला श्रनमक हैं। इस प्रकार, 

यह ननष्कषि ननकाला जा सकता है नक पुरुषो ंको नद्वतीयक और सेिा दोनो ंके्षत्रो ंमें अनिक अिसर नमलते 

हैं, ज नक मनहलाएाँ  मुख्य रूप से प्रार्नमक के्षत्र में काम करती पाई जाती हैं। 

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

नोट: निम्ननिखित प्रश्न केर्ि दृनि ानित परीक्षानर्ियो ंके निए प्रश्न सोंख्या 30 के स्थाि पर है। 

"शहरी मनहिाओों की तुििा में, ग्रामीि मनहिाएाँ  अनधक कायवरत पाई िाती हैं।" 

रै्ध स्पनष्ट्करि द्वारा नदए गए कथि की पुनष्ट् कीनिए। 

उत्तर - ग्रामीण के्षत्रो ंमें मनहलाएाँ  संसािनो ंकी कमी के कारण शहरी समकक्षो ंकी तुलना में आनर्िक 

गनतनिनियो ंमें अनिक सनक्रय रूप से शानमल हैं। ग्रामीण के्षत्रो ंमें, मनहलाओ ंको काम करने के नलए मज ूर 

नकया जाता है क्ोनंक उनकी आनर्िक म्मस्थनत उन्हें ऐसा करने के नलए मज ूर करती है। इसके अनतररक्त, 

शहरी के्षत्रो ंमें, जहााँ पुरुष उच्च आय अनजित करने में सक्षम हैं, उनके पररिार, मनहला सदस्यो ंको नौकरी 

करने से हतोत्सानहत करते हैं।                   (पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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31. 

(क) 

1950 – 1990 के मध्य िघु उद्य ग ों के सोंरक्षि र् सोंर्धवि के निए भारत सरकार द्वारा उठाए गए नकन्ी ों द  

कदम ों का उले्लि र् व्याख्या कीनिए। 

उत्तर - 1950 से 1990 के मध्य लघु उद्योगो ंके संरक्षण ि संिििन के नलए भारत सरकार द्वारा शुरू नकए 

गए कदम इस प्रकार हैं: 

● उत्पादो ंका आरक्षण: कई उत्पादो ंका उत्पादन लघु उद्योगो ंके नलए आरनक्षत नकया गया र्ा, जो 

इन िसु्ओ ंके ननमािण की उनकी क्षमता पर ननभिर करता र्ा। 

● नित्तीय प्रोत्साहन: उन्हें कम उत्पाद शुल्क और कम ब्याज दरो ंपर  ैंक ऋण जैसी सुनििाएं दी 

गई।ं 

 

 

 

½+1½  

 

½+1½  

 अर्िा 4 

(ख) भारत की य ििा अर्नध के दौराि कृनर् के्षत्र में सोंस्थागत सुधार के रूप में भूनम पररसीमि की भूनमका का नर्स्तार 

से र्िवि कीनिए। 

उत्तर - भारत को स्वतंत्रता प्राम्मि के उपरांत, कृनष के्षत्र में समानता को प्रोत्सानहत करने के नलए भूनम 

पररसीमन (अनिकतम भूनम सीमा ननिािरण) जैसे संस्थागत सुिार शुरू नकए गए। भूनम पररसीमन अर्ि है 

नकसी व्यम्मक्त के स्वानमत्व िाली कृनष भूनम का अनिकतम आकार तय करना। इसका उदे्दश्य कुि ही हार्ो ं

में भूनम स्वानमत्व की एकाग्रता को कम करना र्ा। भूनम पररसीमन को भूनम के अनिक न्यायसंगत नितरण 

को सुनननित करके, कृनष उत्पादकता  ढाने और के्षत्र में समग्र निकास में योगदान देने के नलए एक 

महत्वपूणि उपाय के रूप में देखा गया।       (पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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32. 

 

नशक्षा र् स्वास्थ्य के्षत्र ों में नर्नभन्न प्रकार के सरकारी हस्तके्षप की आर्श्यकता के पक्ष में तकव  प्रसु्तत कीनिए। 

उत्तर - नशक्षा और स्वास्थ्य सेिाएाँ  जन समुदाय के सामानजक-आनर्िक कल्याण में महत्वपूणि भूनमका 

ननभाती हैं। सरकार का इनमें हस्के्षप आिश्यक है क्ोनंक इन के्षत्रो ंपर व्यय करने से दीघिकानलक, 

अनुतक्रमणीय प्रभाि पड़ते हैं। इसके अनतररक्त, उपभोक्ताओ ंको अक्सर सेिा की गुणित्ता और उसकी 

लागत के  ारे में पूरी जानकारी नही ंहोती है, नजससे ननजी प्रदाताओ ंद्वारा एकानिकार शम्मक्त और 

संभानित शोषण को प्रोत्साहन नमलता है। इससे  चने के नलए, सरकार को इन सेिाओ ंको निननयनमत 

करना चानहए, मानको ंऔर उनचत मूल्य ननिािरण का पालन सुनननित करना चानहए। इसनलए, सरकार के 

नलए इन आिश्यक सेिाओ ंको समाज के सभी िगों के नलए सुलभ  नाना अननिायि है। 

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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33. 

(क)  

 

 

 

 

 

 

 

 

 

 

 

(i)1947 के उपराोंत, भारत र् पानकस्ताि द्वारा अपिाई गई नकन्ी ों द  समाि नर्कास रििीनतय ों की व्याख्या 

कीनिए। 

उत्तर - भारत और पानकस्ान ने अपने-अपने निकास पर्ो ं के नलए समान निकासात्मक रणनीनतयााँ 

अपनाई:ं 

● दोनो ंरािर ो ं ने साििजननक और ननजी के्षत्र को शानमल करते हए नमनश्रत अर्िव्यिस्था का मागि 

अपनाया है। 

● भारत और पानकस्ान दोनो ंने अपने घरेलू उद्योगो ंको निदेशी प्रनतस्पिाि से  चाने के नलए आयात 

प्रनतस्थापन नीनत अपनाई। 

(नकसी अन्य प्रासंनगक रणनीनत के नलया भी अंक प्रदान नकए जाएं) 

(ii) पानकस्ताि में धीमी आनथवक रृ्खद्ध के नकन्ी ों द  कारि ों का उले्लि र् चचाव कीनिए। 

उत्तर - पानकस्ान में निकास की िीमी गनत के कारण हैं: 

● कृनष के्षत्र का अम्मस्थर प्रदशिन: पानकस्ान में कृनष संिृम्मि और खाद्य आपूनति की म्मस्थनत, तकनीकी 

पररितिन की संस्थागत प्रनक्रया पर आिाररत ना  होकर अच्छी िसल पर ननभिर र्ी नजसके कारण 

लगातार अम्मस्थरता का अनुभि नकया गया। 

● निदेशी कोषो ंपर  ढती ननभिरता: पानकस्ान की पे्रषण पर अत्यनिक ननभिरता, निदेशी ऋणो ंमें 

िृम्मि और ऋणो ंको िापस चुकाने में  ढती कनठनाई की समस्याओ ंका सामना करना पड़ा। 

(नकसी अन्य प्रासंनगक कारण के नलया भी अंक प्रदान नकए जाएं) 
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 अर्िा 6 

(ख) "चीि िे आनथवक नर्कास के निए नर्शेर् आनथवक के्षत्र ों (Special Economic Zones) के उपकरि का अत्योंत 

प्रभार्ी रूप से उपय ग नकया था।" 

नदए गए कथि का औनचत्य मान्य व्याख्या द्वारा नसद्ध कीनिए। 
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उत्तर - चीन में निशेष आनर्िक के्षत्रो ं(SEZs) की स्थापना से अर्िव्यिस्था में प्रत्यक्ष निदेशी ननिेश (FDI) में 

पयािि िृम्मि हई है। निदेशी पंूजी और प्रौद्योनगकी के  डे़ पैमाने पर अंतिािह के सार्, उत्पादक क्षमता कई 

गुना  ढ गई, नजससे चीन के तेज़ आनर्िक निकास में योगदान नमला। 

(ii) मािर् नर्कास के ऐसे नकन्ी ों द  सोंकेतक ों का उले्लि र् चचाव कीनिए, िहााँ चीि िे उले्लििीय प्रदशवि नकया 

है। 

उत्तर - मानि निकास के दो संकेतक, जहां चीन ने अच्छा प्रदशिन नकया है:  

● मातृ मृतु्य दर:  ेहतर साििजननक स्वास्थ्य सुनििाओ ंके कारण चीन में मातृ मृतु्य दर कम है। 

● ननििनता: चीन में ननििनता रेखा से नीचे की जनसंख्या का अनुपात समय के सार् कम हआ है। 

(नकसी अन्य प्रासंनगक संकेतक के नलया भी अंक प्रदान नकए जाएं) 
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34. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

निम्ननिखित गद्य क  ध्यािपूर्वक पनढ़ए: 

हाि ही में, कें द्रीय मोंनत्रमोंर्ि द्वारा एक राष्ट्र ीय स्तर की बहुरािीय सहकारी सनमनत के गठि क  मोंिूरी दी गई है। 

यह सनमनत िैनर्क उत्पादि र् नियावत क  प्र त्सानहत कर कृर्क ों की आय में कई गुिा रृ्खद्ध करिे में सहायता 

करेगी। 

आगामी पााँच र्र्ों में, प्रते्यक नििे में भूनम परीक्षि र् उत्पाद ों के प्राकृनतक स्वरूप के चयि की व्यर्स्था स्थानपत 

की िाएगी। 

सरकार िे सभी पोंचायत ों में एक सहकारी सनमनत स्थानपत करिे का भी नििवय निया है, ि  यह सुनिनित करेगी 

नक कें द्र सरकार की य ििाएाँ  कृर्क ों तक पहुाँचें। 

यूररया के व्यापक उपय ग िे कृनर् भूनम क  हानि पहुाँचाई है, तथा िाि ों कृर्क िैनर्क िेती की ओर अग्रसर हुए 

हैं। 

बेहतर मूल्य पािे के निए ऐसे उत्पाद ों के नर्पिि और प्रमािीकरि की आर्श्यकता है। इसके अिार्ा, यह भी 

सुनिनित करिा है नक िकिी िैनर्क उत्पाद बािार में ि आएाँ । 

 

नदए गए गद्य पर सामान्य ज्ञाि के आधार पर निम्ननिखित प्रश्न ों के उिर दीनिए: 

(क) िैनर्क कृनर् क  पररभानर्त कीनिए। 

उत्तर - जैनिक कृनष, खेती करने की िह संपूणि पिनत है जो पयाििरणीय संतुलन को पुनः  स्थानपत करके 

उसका संरक्षण और संिििन करती है।  

 

(ि) िैनर्क कृनर् के नकन्ी ों द  िाभ ों का उले्लि कीनिए। 

जैनिक कृनष के लाभ हैं: 

● मृदा संरक्षण। 

● पोषणयुक्त आहार। 

(नकसी अन्य प्रासंनगक लाभ के नलया भी अंक प्रदान नकए जाएं) 

 

(ग) िैनर्क उत्पाद ों क  प्र त्सानहत करिे के निए सरकार द्वारा उठाए गए कदम ों की व्याख्या कीनिए। 

उत्तर - जैनिक उत्पादो ंको प्रोत्सानहत करने के नलए सरकार द्वारा उठाए गए कदम हैं: 

● आगामी पााँच िषों में प्रते्यक नजले में भूनम परीक्षण और उत्पादो ंके प्राकृनतक स्वरूप के चयन की 

व्यिस्था की जाएगी।  

● सभी पंचायतो ंमें एक सहकारी सनमनत स्थानपत की जाएगी, जो यह सुनननित करेगी नक कें द्र 

सरकार की योजनाएाँ  कृषको ंतक पहाँचें। 

(नकसी अन्य प्रासंनगक कदम के नलया भी अंक प्रदान नकए जाएं) 
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